General Studies for Primary Schools
 Human skeleton - Worksheet
Task: Students make a skeleton model that can support a weight.
Materials: A4-sized recycled paper(8), adhesive tape(1), scissors(1), 
weight (e.g. tennis ball) (1)








Criteria of making a skeleton model:
[bookmark: _GoBack]1.	Structure of the skeleton model: No restriction. Space for placing a weight should be available on top.
2.  Height of the skeleton model: At least 30 cm.
3.	The skeleton can be moved (i.e. cannot be stuck on the desk).

Testing the stability of the skeleton model:
· Place a weight on the top of the skeleton. The skeleton can pass the test if it can stand for 30 seconds.

(I)	Individual work – Draw a sketch of the skeleton
	

















(II)	 Group work – Design of the skeleton
Discuss with your group members and choose the best design.

















(III)  Testing
Result: (  Pass  /  Fail   ) 

(IV)  Group discussion
1. What are the merits of the design of the most stable skeleton?
       _________________________________________________________________
     2. Compare the structures of the “human skeleton” and the “skeleton model”.
       _____________________________________________________________________
       _____________________________________________________________________

  (V)	Conclusion 
Human skeleton is very (  hard  /  soft  ) which is made up of bones and joints. The skeleton (  protects  /  supports  ) the body and (  protects  /  supports  ) the organs inside the body. 

Suggested answers

(IV) Group discussion
	Points for comparison
	Human skeleton
	Skeleton model

	1.  Support weight
	It can support the weight of the body.
	It can support limited weight. (any reasonable answers)

	2.  Junctions 
	The joints are movable.
	The junctions are not movable. / No joints

	3.  Movement
	Freely movable
	Limited movement
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(V) Conclusion
    
· hard, supports , protects
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